Switched Mode Power Conversion
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Selected Problems:
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D:0.4; 15:10 A; Tg: 20 ps; L: 20 puH; Vi 25 V;
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D:0.4; 15:10 A; Tg: 20 ps; L: 20 puH; Vi 25 V;



Switched Mode Power Conversion
Problem Set 03
Problem No. 2
YY L
=S J;D L

Vs Cl| R

2
L1

Peak Stored Energy in L ?
- - 05 20 s &

-
>

- 30 ézg/uj‘ - %O‘ég mf{

A
2

D:0.4; 15:10 A; Tg: 20 ps; L: 20 puH; Vi 25 V;
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Vs 24V; D:0.4; R:1.0 ohm; T4: 20 ps;
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V0 0.4Vi Vi 0.8V RyE30 mQ; Rg: 60 mQ; Ry 15 mQ;

Vs 24V; D: 0.4; R:1.0 ohm; Tg: 20 ps;
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V0 0.4Vi Vi 0.8V RyE30 mQ; Rg: 60 mQ; Ry 15 mQ;

Vs 24V; D: 0.4; R:1.0 ohm; Tg: 20 ps;
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Magnetisation Loss: ?

Lm: 500 pH
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Efficiency: ?

Lm: 500 uH
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Vs 20V; D: 0.5; R: 50 ohm; V5: 50 V; L =20 uH,;
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What is the Conduction Mode?

Vs 20V; D: 0.5; R: 50 ohm; V5: 50 V; L =20 uH,;
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What is the Average Input Current?

Vs 20V; D: 0.5; R: 50 ohm; V5: 50 V; L =20 uH,;
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Periodic Input Current Waveshape
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Switching Frequency?
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Conduction Parameter?
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Vs 20V; D: 0.5; R: 50 ohm; V5: 50 V; L =20 uH,;
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Vs 40 V; D: 0.35; R: 20 ohm;
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Volt-Sec Balance & V,; and V,

Volt-Sec Balance on L,
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Volt-Sec Balance on L,
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Volt-Sec Balance & V5 and V,

Volt-Sec Balance on L,
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Periodic Currentin L,

Voltage Across L,
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Periodic Currentin L,

Border Between CCM and DCM
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Condition on K = 2L,/RTyq

Border Between CCM and DCM
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Vs 40 V; D: 0.35; R: 20 ohm;



